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GRITHE
General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii) All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal choice in three questions of three marks each, two questions of
five marks each in Section A and in one question of two marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.

(vi) Question numbers 3 to § in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.
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Section — A

STt feregd T | B |t it -&uT=eT forfau | 1

Write the energy conversion that takes place in a hydropower plant.

TS o Teh WM H ST 71 o THI ATet HeX o W] T Heptll {he Bl aTet He o a1 &
SHUAT AT | F| Sl § a1 IHom S 8 ? 1

A Mendelian experiment consisted of breeding pea plants bearing violet flowers with

pea plants bearing white flowers. What will be the result in F| progeny ?

(a) WHElH U ST ol Ush & ele] UTE! qeiT Teh HTURTa! sl 91 faiRay | 2

(b) I feu MU = % waTg @, e g fora 3tem & €9 § T U 7, H
T IR YfETeht T et 0 a 3T b 1 W fofau |

gﬁmﬁaﬁb—)ﬁﬁwwmﬁm

(a) Name one gustatory receptor and one olfactory receptor present in human beings.

(b) Write a and b in the given flow chart of neuron through which information

travels as an electrical impulse.

Dendrite | —> | a | ——> | b | —— | End point of Neuron

Ffe feret et U0 gRT 3Heh | W foea o1 fepelt oft feufa <6 foTe wide &t T =1
e 37 A1es § Bier Yidfoms sar ], 1 T8 U fohd TeRR T & 7 37U 3T I gfee
fore Areiferd feror sm@ @i | 2
If the image formed by a spherical mirror for all positions of the object placed in front

of it is always erect and diminished, what type of mirror is it ? Draw a labelled ray

diagram to support your answer.

3 [P.T.O.
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g AT X TR |G TR 3T o T1Y 443 K TITH HE T HIE I A1eh
Y’ ST B | Aifes X wifeem arg @ off srfufsen et @ e i vl e 2
Freperdt 2 1 <X, Y’ qUT Z° I UEAMT | Y’ 3@~ BH Sl TEE S ITRTHAT 1
TRt off foTRaw a1 39w 915 FowIieh 37T <hi YfHehT I Seor@ Wi HifT |

A compound ‘X’ on heating with excess conc. sulphuric acid at 443 K gives an
unsaturated compound ‘Y’. ‘X’ also reacts with sodium metal to evolve a colourless
gas ‘Z’. Identify ‘X, °Y’ and ‘Z’. Write the equation of the chemical reaction of

formation of ‘Y’ and also write the role of sulphuric acid in the reaction.

TehTST oh 379 o T4aW feaflgu | ue “fordt wream <1 fFruer Squerdiess” bt = hifse
3R 39 ue a1 faatd § yerrer ) =1aT o o o e hl ewid o fou = fefigu |

AT

fepeft o <61 a7t & w1 ATl 8 7 38T ST AT TARAT | %18 B 40 cm BIHE g &
A ITAN L TG 2 AT g 3T B —20 cm Bl Gl 1 0¥ ITAT HL @1 3 | 9 gl
et 1 yepfa 37T amar ferfae |
State the laws of refraction of light. Explain the term ‘absolute refractive index of a
medium’ and write an expression to relate it with the speed of light in vacuum.

OR

What is meant by power of a lens ? Write its SI unit. A student uses a lens of focal

length 40 cm and another of —20 cm. Write the nature and power of each lens.

IR A 3R <ifieh S & &g T 3T fetflaw | 3Teifiteh S99 i aTeft S7eaT
Afieh I L ool SRS # & fopeeh g G TefiS A STRSfAn o STuarehd
317k T &1 HWehdl & ? 37U I b1 gfee o forw swrwr €ifye |

Write one main difference between asexual and sexual mode of reproduction. Which

species is likely to have comparatively better chances of survival — the one reproducing

asexually or the one reproducing sexually ? Give reason to justify your answer.
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8.  ug gwisy fob i uferierent, S wedes =61 ufetisr 9 Q B, 1 3179 fope TehR Gnifora shint
Toh TFISH =T e T (i) 13.5 Q, (i) 6 Q I & ? 3
AT

(a) S 1 A e fTRee |
(b) < forera oivg T8 | T 1 3THAs 100 W; 220 V 7T Q8L T 60 W; 220 V 2,
fopeht forgga oia & e aredspn o T € | afe fagga smgfd Y dieear 220 v R,
1 2 et g forege & R T ot ST 2 2
Show how would you join three resistors, each of resistance 9 Q so that the
equivalent resistance of the combination is (i) 13.5 Q, (i1) 6 Q ?
OR
(a)  Write Joule’s law of heating.

(b) Two lamps, one rated 100 W; 220 V, and the other 60 W; 220 V, are connected
in parallel to electric mains supply. Find the current drawn by two bulbs from
the line, if the supply voltage is 220 V.

9. Tr=ferRaa sr=a-wme it gro wnfaa &I 1 AT qUT T T Teh Yhr fotfau | 3
(a) U (b)) I (¢) I=EE
Name the hormones secreted by the following endocrine glands and specify one
function of each :
(@) Thyroid (b) Pituitary (c¢) Pancreas

10. et TrEeht § gHER 5 o $© e oieht 3T 2 mL Hifea gsgiaaTse o1 faeam
STEAT TR | Tt ht arft sl T hid W s 19 Icdfoia g8 foreht wienn % 8 qd
34 TTeH % Tt @ venfea foran mn foad 719 & gergel 9 | 89 areft stfufsha
THIRTT TUT 39 719 o T o fou e fafay | afe a2 a1g fret Jaa 31t & a3
Torerem o srfuferen =, O S e ScEtSia Bt 35ent - fefa | 3
e

Tehig! ol TTfESe 3T GET s o ot Iw=mT fopu ST aret fepeft et 61 pH W 14 R |
Y G0 bl BT a7 3Heh fAmT0r o foru vramafaes aefentor ferfign | goes @ 3w i
il §H1T |

2 mL of sodium hydroxide solution is added to a few pieces of granulated zinc metal
taken in a test tube. When the contents are warmed, a gas evolves which is bubbled
through a soap solution before testing. Write the equation of the chemical reaction
involved and the test to detect the gas. Name the gas which will be evolved when the
same metal reacts with dilute solution of a strong acid.

OR

The pH of a salt used to make tasty and crispy pakoras is 14. Identify the salt and
write a chemical equation for its formation. List its two uses.
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12.

13.
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(a)

(b)

(a)

(b)

T % ATerehiz Aires fergd o Frarerss #4188 7

foreft U Hqw AT 1 AT 3R ITeh! AT GRC R e T Sor 6 €9
T aferd B 8 | 38 i o TRy ushel STl 1 g foafaw |

Why are most carbon compounds poor conductors of electricity ?

Write the name and structure of a saturated compound in which the carbon
atoms are arranged in a ring. Give the number of single bonds present in this

compound.

T (3ruere) srfirfsranati § 31fYehren! ol died o foTT 31 ot ST 37T TehTsT 37T

Torera o1 <Y STTaverehal BIdl & | Tceh SR sht forrie atfrfsran, forem e, wepm 37
Torgga STt <l 3R <hi ST @, 6 1T Teh—Teh TEmIfeh et fafau |

Decomposition reactions require energy either in the form of heat or light or electricity

for breaking down the reactants. Write one equation each for decomposition reactions

where energy is supplied in the form of heat, light and electricity.

Y FATEAT & ? BH oS I1Y I SHET AT8d & 7 g ST T (HI0T hid qHT R

ST b1 S W1 TR, qTfeh ST T | Afd 941 T, ITehT Ioei@ 1T |

What is a dam ? Why do we seek to build large dams ? While building large dams,

which three main problems should particularly be addressed to maintain peace among

local people ? Mention them.



14, ol foemer & BET 9 WA:HIEE 991 § 98 FHER g1 76 foooh 9 %2 &1 %18 9o
I e TAT IR 3 MiSAT 39 Hersl | &8 T | H& A Wi S 81 1T 3R & 3R
Sftheh ST 21 T | ek weled | sifge T ° oft 3Et fowe ==t < qen Bl | 12
THET 1 §A WIS o [T T | 3F=ad: DA A qf 63Tl o1 feehy ket — vget 98 §

o ST HS1 &7 3091 hid & SHT Y6 1 T o, TUT g I8 Toh Tl &R oX &0 m

%1 I~ | 3

(a) I %ST &H 39~ L & SHoh T&-H o Gl U GIATST |

(b) TSf TR W, 8 & HH FIT 9~ A o [T FH A1 L Eehdl & 7 Gl foig ST |

(c) 38 wEm # frerh weied I f5m el & fowar O Sl 1 fren & 370 @ <) geai B
T ST |

Students in a school listened to the news read in the morning assembly that the

mountain of garbage in Delhi, suddenly exploded and various vehicles got buried
under it. Several people were also injured and there was traffic jam all around. In the
brain storming session the teacher also discussed this issue and asked the students to
find out a solution to the problem of garbage. Finally they arrived at two main points
— one is self management of the garbage we produce and the second is to generate
less garbage at individual level.

(a) Suggest two measures to manage the garbage we produce.

(b) As an individual, what can we do to generate the least garbage ? Give two

points.

(c) List two values the teacher instilled in his students in this episode.

15. (a) fortlt =rmeres, foraeht ammepfa ar St 2, w1 ufeig 59 srepl w i w°tar 7, 33h1

Gl ST |

(b) =gy forga 6t STt ATeTeh a2 hiw fed 1 HaTereh R BIaT & 7 HRT ST |

(c) Torega aam gfereart & T fsmgatt o6t SwReT I fohe STt @ 7 o €T | 3

(a) List the factors on which the resistance of a conductor in the shape of a wire
depends.

(b) Why are metals good conductors of electricity whereas glass is a bad
conductor of electricity ? Give reason.

(c) Why are alloys commonly used in electrical heating devices ? Give reason.
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17.

18.
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(a)
(b)
(c)

(a)
(b)
(©)

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

TATHT 1 o g e ferfe |

forg AieX &1 FRHR! g fafam |

forege e 35 S fe o s 1 w6 e |

() IR (i) (iii) favem go

State Fleming’s left hand rule.

Write the principle of working of an electric motor.

Explain the function of the following parts of an electric motor.

(1) Armature (ii) Brushes (iii) Split ring

T HIET S o b J1e U 7T Tedieh YT o1 1Y felRaT
() 3USEE, (i) Jeartel,  (iif) T
AT hl FEAT 31 1 1 G&Y § Ui shifa |

Write the function of following parts in human female reproductive system :
(i) Ovary (i) Oviduct  (iii) Uterus

Describe in brief the structure and function of placenta.

e SR 35 wer 1 a1 3 FERE SR A Yg AT 3 e 6 faf
=R ! TR |

HIR () o THIES ITAEH 8 HIR H1 Hepuv1 fohg Tehr ferer S @ 7 Fsepum
o fafy=r =won <t =ame TamEe SHieR |fed i | i o foaga e
TTSeHTT <1 ATHTTeRd 3TRE ST |

Write the steps involved in the extraction of pure metals in the middle of the
activity series from their carbonate ores.

How is copper extracted from its sulphide ore ? Explain the various steps
supported by chemical equations. Draw labelled diagram for the electrolytic

refining of copper.
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(a)
(b)
(c)
(d)

(a)
(b)
(c)

(a)
(b)
(c)
(d)
(a)
(b)
(c)

(a)

(b)

(c)
(a)

(b)
(©)

B o fepegl Q1 FaTal ol Jooi@ HITT |

IR T TR IS ST FfeR o T o1 1o farfiaw |

It 3T e & o= areat 1 i fdfau |

Tt 3R TR o Heredl o o 15 Teh Tt 3= faIRa | 5
YT

el =h aiT ferfau |

Jaeh 1 IUTEIA STTURY RIS Teheh 1 A1 fofay |

O o IcES a3 o1 3TRE@ W 3R 30 W 3cHS F o 38 9T T ATHTh

#Hifa -

(i) NI RERHEE |

(i) STt el foteRt & 37X g9k & o7 Tfaa el B |

(iii) TSrEd 7 T 7o 7 WoeTR T 2 |

Mention any two components of blood.

Trace the movement of oxygenated blood in the body.

Write the function of valves present in between atria and ventricles.

Write one structural difference between the composition of artery and veins.
OR

Define excretion.

Name the basic filtration unit present in the kidney.

Draw excretory system in human beings and label the following organs of
excretory system which perform following functions :

(1) form urine.
(i1) 1is a long tube which collects urine from kidney.
(ii1) store urine until it is passed out.

3NYHh 3TEd AROf 1 fohrE STaE, =[eive qeT HUSE® o TR Sl <
SHROT B AR R | 3 AT T <l Ueh-Teh ISR 3T Teh—TUsh |1 3h1 Fft SIS |

39 31Tk o1 A foaRaw frem wevem a8 gurin fob foreft aa sht v e 3deh
U] ZeAHTH oh g 8 tfereh Smemgd ure B |

3yl 3mmed frm fafaw | 5

The modern periodic table has been evolved through the early attempts of
Dobereiner, Newland and Mendeleev. List one advantage and one limitation of
all the three attempts.

Name the scientist who first of all showed that atomic number of an element is a
more fundamental property than its atomic mass.

State Modern periodic law.

9 [P.T.O.
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(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

13 B T 3 m g R e wmdg i 318/ o1 T2 18 o T | 38 o
o gfe-gm & fifea 2 3eept am forfaw | 59 S & wwrfera swor fafaw 3tk soes
T <6t fafer st samen Sif |
AR | feAfentd € 7 =amen Hif |

e
e 93 % ) e e ges a1 wH ferfe
() gaeft, (i) giaTienT, (i) e @@, (iv) aemTdt afdmt
TSR Y R YAl &I 8 7 9 hIs STaRerEmt 39 afteedr i da
g HT R ¥t R FhAT B 7 319 3T <ht gfee & forw Hwer v |

A student is unable to see clearly the words written on the black board placed at
a distance of approximately 3 m from him. Name the defect of vision the boy is
suffering from. State the possible causes of this defect and explain the method
of correcting it.
Why do stars twinkle ? Explain.

OR
Write the function of each of the following parts of human eye :
(i) Cornea (ii) Iris (ii1) Crystalline lens (iv) Ciliary muscles
Why does the sun appear reddish early in the morning ? Will this phenomenon

be observed by an astronaut on the Moon ? Give reason to justify your answer.

10
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Section — B

22. 3T o S <ht Tfshat 1 AW fARaw | 38 S i Ufskan o fafi=r = i 3tad s
¥ fafxa i | 2
CUE
B3 B A H qpe GRT 3TeifiTeh S o 1= =l o1 Tl Tmse 1 genesft g
TeI0T L TET 8 | I8 TATSS H S He J&07 hidl 7 I TT@ Giaeht (shHaR) gIsy |

Name the process by which an amoeba reproduces. Draw the various stages of its

reproduction in a proper sequence.
OR

A student is viewing under a microscope a permanent slide showing various stages
of asexual reproduction by budding in yeast. Draw diagrams of what he observes.

(in proper sequence)

23. 4.0 cm H=1E 1 HE o0 20 cm ®ishE gl % fohEl 3T oW % YhITH b5 O”
30 cm g0 W @ 2 | s o idfers i fRufd iR |mes a0 & % TRt sma
Eifau | 39 3@ ¥ Yo g <O’ d1 &I ®ihd ‘P 3ifeha Hifve | wfafers i
Farg 37 ferar 1 =g o1 ety ST oft 3a A | 2

An object of height 4.0 cm is placed at a distance of 30 cm from the optical centre
‘O’ of a convex lens of focal length 20 cm. Draw a ray diagram to find the position
and size of the image formed. Mark optical centre ‘O’ and principal focus ‘F’ on the

diagram. Also find the approximate ratio of size of the image to the size of the object.

24, Torel B 9 @ WEHET A 3R B § folU 7T SRR Tethe T i Hehe o Ao
forerrt o Tqfifem aTg % %o gohe STo | TR 3 gER 9T H 38 C 3R D TEAforEl §
el foru e egfufrem dethe 3 I Gethe % el faeraml # TR U1g & ghe
Tl | Toper 3tean fore qrafern o 38 T 1 T H uitady fg@Tg m 7 59 SN % SR
W Iooid HIFTT 1 1 it or1q Fariferes stfrfspmsfic & s | 2

3172 11 [P.T.O.



25.

26.
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A student added few pieces of aluminium metal to two test tubes A and B containing
aqueous solutions of iron sulphate and copper sulphate. In the second part of her
experiment, she added iron metal to another test tubes C and D containing aqueous
solutions of aluminium sulphate and copper sulphate.

In which test tube or test tubes will she observe colour change ? On the basis of this

experiment, state which one is the most reactive metal and why.

1 Yo7 o Sirar & Sie fopd) wgaet # forw . sfem seise & fafermm 6 aifeam
Hothe Taeraa T Srar 2 ¢ affrfea vamfies sifufsean 1 qoamafae gt qer 3q
TeR0T | B4 aTed] AT o Tehr o1 A faifgu |

What is observed when a solution of sodium sulphate is added to a solution of barium
chloride taken in a test tube ? Write equation for the chemical reaction involved and

name the type of reaction in this case.

fereft wfertieres, freept afeier (R) 8, & warfed foega am (1) 37t 3ues Rt & e qegedt
favrarat (V) & oM = fou e sER E

V (ae) 0510 |15]201]25|30] 40150

I(TPRR) [ 0.1]02|03]04|05]06]|08]| 10
g (1) 3R favar= (V) & &= e it 3tk afatess 1 gfade (R) F1d hifs |

The values of current (I) flowing through a given resistor of resistance (R), for

the corresponding values of potential difference (V) across the resistor are as given
below :

V (volts) 0510|1520 ]25]| 30|40 50
I (amperes) | 0.1 | 0.2 | 03 | 04 | 05 | 06 | 0.8 | 1.0

Plot a graph between current (I) and potential difference (V) and determine the

resistance (R) of the resistor.

Tordf) ot o feseteh | T <1 J&q01 o o foTU reameft 3Tgor Sam ot <ht ufshan o =on
hl = ST |

List the steps of preparation of temporary mount of a leaf peel to observe stomata.

12
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MARKING SCHEME OF SCIENCE (086) OF AISSE 2018

SET-31/2
Max. Marks: 80
Q No Value Points/ Expected Answers Marks Total
SECTION-A
1. | Potential /Kinetic/ Mechanical Energy into Electrical energy. 1 1
2. Violet flowers 1 1
3. | (a) Due to ambiguity in the question award 1 mark whether attempted or not. Y x 2
(b) a) Cell body/ cyton %x2
b)  Axon 2
4. | e Convex Mirror %
e Labelled Ray diagram for any position of object
1%
-AI -
..
B 1_'.; {:
"-.__
N
OR
M
A — /
— -
"""""""" _.: — (
--------------- —» o .}f ——. -
I | F C
............... —_— — |I ‘
B &
At _—
infinity N
Note: If arrows not marked, % mark to be deducted.
2




e X-Ethanol/ (C; HsOH)/Ethyl Alcohol
o Y- Ethene / (C; Ha)
e Z- Hydrogen/ (H,)
(any two)
Conc HzSO4
o CH3-CH,OH —— & CH,= CH,+H,0

e Role of sulphuric acid —dehydrating agent

1%t l]aw: the incident ray, refracted ray and normal to the interface at the point of
incidence lie in the same plane.

2" law: The sine of angle of incidence bears a constant ratio with sine of angle of
refraction for a given pair of media. Or % =constant

. . Speed of light in air or vacuum
Absolute Refractive Index of a medium = 22 &

Speed of light in the medium
(Award full marks if the same thing is given in the form of statement)

OR
Power of lens = Ability to converge/ diverge light rays passing through it/ reciprocal of

the focal length in metres / % (in meters)

Sl unit of power is Dioptre
100 _ 100

f_l T 40cm
Nature: Converging lens / Convex lens

Power of 1*tlens P; = =+2.5D

100 _ 100
Power of 2™ lens P, = ST 5D

Nature: Diverging lens / Concave Ins

Any one of the following difference:
(i) In sexual reproduction two opposite sexes are involved where as in asexual
reproduction only one individual is involved.
(i) In sexual reproduction male and female gamete formation takes place where
as in asexual no gamete formation occurs.
o Sexually reproducing organisms have better chances of survival
e Because more variations are generated.

(i)

N Two 9 ohm resistors in parallel
on . connected to one 9 ohms in
- AM series
9. 1 1 1 2
R, 9 979
9
Rp = E.Q

9
R = 99+§Q = 13.50Q

1%




(ii) 1%
9‘“‘ A Two 9 ohm resistors in series
connected to one 9 ohms in
[ S— ——g) parallel
L V™ R, =90 + 90 = 180
aww—J 1 1 1 3
R 1879 18
~R=6Q
Note: Deduct % mark if
calculations are not given.
OR
(a) Joule’s law of heating — Heat produced in a resistor is (i) directly proportional to the
square of current for a given resistance, (ii) directly proportional to the resistance 1
for a given current and (iii) directly proportional to the time for which the current
flows through the resistor / H = I’Rt where, H = Heat produced, | = current, R =
Resistance of the conductor and t = Time for which the current flows through the
resistor
Note :If the candidate gives only the expression H = I’Rt award % mark only.
(b) Currentin 1% bulb, I; = P19 _3A0r045A 1
v 220 11 1
Currentin 2" bulb, I, = P2_ 50 _3 Aor027A
V220 11
9. | a. Thyroxine, regulates carbohydrate protein and fat metabolism/ controls metabolism | % + %
for balance of body growth
b. Growth hormone, regulates growth and development of body (or any other correct | % +%
answer)
c. Insulin, regulates/ decreases blood sugar level Y+
Or
Glucagon, regulates / increases blood sugar
10. | ¢ Zn + 2NaOH = Na»ZnO; + H, 1
e When a burning splinter is brought near the gas, it burns with a Pop Sound. 1
e Gas— Hydrogen / H,
1
OR
e NaHCOs(Sodium Hydrogen Carbonate/ Sodium Bicarbonate) 1
e NaCl +H,0+C0O,+NH3=> NH4Cl+NaHCO; 1
Uses:
For making baking powder
As ingredient of antacid.
Y+ ¥

Soda-acid fire extinguishers  (Any two)

Note: As no salt can have pH = 14, give full credit for any attempt of the candidates.




11.

a) Carbon compounds form Covalent bonds/ do not dissociate into ions/ do not have 1
charged particles (ions)
b) Cyclohexane 1
H H H H
H : C ( H %
( (
H & ( H
H I H H
- %
Total No. of single bonds=18
(OR any other cycloalkane with corresponding number of bonds)
12. heat
eCaC0; — Ca0 +CO; )
heat
2FeSO, —» Fe;03 + S0, + SO3 Any one 1
heat
2Pb(N03)2 EEE—— 2Pb0O + 4NO, + 0,
J
sunlight
e2AgCl — > 2Ag+Cl
Sunlight Any one 1
2AgBr — >  2Ag+Bn
electricity
e2H,0 ——» 2H,+0, 1
(or any other equation for above decomposition reaction.)
Note: No marks to be deducted if equations are not balanced.
13. | 1. Dam is a barrier that is built across a river or a stream for storage of water. %
2. Large dam can ensure the storage of adequate water for irrigation and also for Yt
generating electricity.
3. Social problem, economic problem and environmental problem 1%
14. a. Incineration/ Waste compaction/ Biogas generation/ Composting/ Segregation
and safe disposal/Vermicomposting (Any other) (any two) Y+ ¥
b. Reuse of empty bottles, books etc. %
Reduce the use of non-biodegradable substances like polythene, thermocol %
etc. (Any other)
c. Awareness about environment, scientific attitude, Concern for community
health and personal health (Any two) Y, Y




15. a. Factors on which resistance of a conductor depends:
i.  Length of conductor [orR a.¢] %
ii. Area of cross-section of the conductor [or R a 1/A] %
b. Metals are good conductor of electricity —as they have low resistivity/ have %
free electrons
Glass is a bad conductor of electricity — as it has high resistivity/have no free %
electrons
c. Reason:
Alloys have high resistivity /high melting point / alloys do not oxidize
(Or burn) readily at high temperatures.
(any one) 1
16. Fleming’'s left-hand rule: stretch the forefinger, middle finger and thumb of left
hand in such a way that they are mutually perpendicular to each other. If the
forefinger point in the direction of magnetic field, middle finger point in the
direction of current then the thumb show the direction of force or motion on the
current carrying conductor. 1
Principle of working of electric motor: A coil carrying electric current placed in an
external magnetic field experiences a force. 1
Function of armature: Enhances the power of the motor/ induces motion. 1
Function of brushes: Helps easy transfer of charge between the coil and the
external circuit. 1
Function of split rings: Reverses the direction of current after each half rotation of
the coil so that the coil can keep rotating continuously. 1
17. a. i) Ovary —releases egg/ female gamete/ ovum 1
releases oestrogen/ female hormones (any one)
ii) Oviduct- Transportation of ovum/ egg from ovary to the uterus/ Site of 1
fertilization
iii) Uterus — Development of embryo/ foetus 1
a) Placenta- It is a disc embedded in uterine wall which contains villi on the 1
embryo side of the tissue and blood space on mother side.
Function of placenta: Provides nourishment to embryo from mother’s blood / 1
Removal of waste from embryo to mother’s blood. (Any one)
18. a. (i) Calcination (ii) Reduction (iii) Purification (in the given sequence only)) 1%
b. Sulphide ore of copper is heated in air
2Cu,S+30; = 2Cu,0 +2S0;
2Cu;0+Cu,S -2 6Cu+ SO, 2
(Note: Full marks to be awarded even when only equations are written.)
c. Labelled diagram of electrolytic refining of copper
1
thode—# ‘*‘-*U‘ i
f i
Rl s i
bl i id
I o ;:_
) 1%




19. a. Plasma, red blood cells, white blood cells, platelets (any two) %, %
b. Lungs - Leftside of the heart > aorta -  body organs % x4
Note : Give weightage even if same thing is explained in the form of paragraph.
c. Prevent back flow of blood 1
d. Artery has thick elastic wall and vein is thin walled/ valves are present in the 1
veins and not in arteries
OR
a. Processinvolved in removal of nitrogenous / harmful metabolic waste from the
body. 1
b. Nephron. 1
c) Diagram of Human Excretory System:
Labelling of the following parts
i) kidney i) ureter iii) urinary bladder
Kidney
Ureter
Urinary bladder
Drawing 1%
Labelling 1%
20. | Dobereiner Periodic Table Y+
Advantage: To predict the atomic mass of middle element in each triad
Limitation: Dobereiner could identify only three triads
Newland Periodic table Yo+ Vs
Advantage: Every eighth element had properties similar to that of first/ co-related the
properties of elements with their atomic mass.,
Limitation: It was only applicable up to Calcium / only 56 elements and no future
element
Mendeleev’s Periodic Table Y+
Advantage: Elements with similar properties could be grouped / He predicted the
existence of new elements that had not been discovered at that time.
Limitation: No fixed position for hydrogen/ position of isotopes/ Atomic masses do not
increase in a regular manner.
Henry Moseley 1
Properties of elements are a periodic function of their atomic number 1




21.

a. Defect of vision — Myopia or short sightedness or near sightedness
Causes of myopia: i) Excessive curvature of eye lens/eye lens becomes more
converging
ii) Elongation of eye ball
Methods of correction: By the use of concave lens of suitable power or focal
length the defect is corrected. / suitable diagrammatic representation.

b. Due to atmospheric refraction
The density of different layers of air keeps on changing due to which the
apparent image of the stars keeps on changing. This changing position of stars
appears as twinkling of stars.

OR
a. Function of:

e Cornea: focuses light rays / permits the light to enter the eye..

e |ris: Controls amount of light entering the eye. / controls the size of pupil.

e Crystalline Lens: Converges light rays onto retina.

e Cilliary Muscles: Adjusts focal length of eye lens by contraction and
relaxation so that sharp image can be obtained on the retina. / helps in
accommodation

b. Inearly morning, sun light has to cover larger distance in the atmosphere. So,
the shorter wavelengths scatter out. Only the longer wavelengths like red
reach our eye.

On moon — No
Cause: Moon has no atmosphere

Yo+

Yax4

1%

SECTION-B

22.

e Binary fission
e Diagram

&
e EVTEHDE

OR

1%




Chain of buds
Developing bud New bud

Yeast cell

23. 1
Position of O and F v
Ratio=hi/ho approximately 2:1 v
24. In the test tube A, B, D she will observe colour change (No splitting of marks) 1
Aluminum is the most reactive metal, because it displaces Iron, Zinc and Copper from
their aqueous salt solutions. Yo+ Vs
25. | White precipitate is observed %
Na,S04(aq) + BaCly(aq) > BaSOa4(s) +  2NaCl(aq) 1

Double displacement reaction




26.

Plotting of correct graph

Calculation of resistance 1
1
27. | The steps are:
i.  Removal of peel from leaf %
ii.  Stain with safranin %
iii. Putthe stained peel on a clean slide %
iv. Mount it with glycerine and cover slip %

10
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10.

11.

32qdT
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gfeRtge o yarfed g arell fagfd oR1 & avf & Gehargurdl, (i) <1 T

farefa oRT & forq UfARIer & STIepaTguTcl e (i) 9 T & STIhHTIuTC!
il 2 foraas forg f 7g ufoRier # gy warfed &t & |

(afe Baet &sTd H= "Rt far Tam @ af % 3fe far sy )
(b) U Tod H fAgRIRT, £, = - = = > A JTT 0.45A

TR e # frgduRy, L= 22 = 8OW = 3 A grerar 0.27A
v 220y 11

(a) YURRIRTT : FrEEEST, U TAT 99T & SUTYAY ®f FRafid / Suay
1 T TS TN IRR BT I HT A Rl ¢ |
(b) Ifg B : TR o1 Iig IR v o1 Fraf3d w=ar &
(31erdaT 3T PIs ABl ITX)
(c) S=afer : SR & wrav1 & ¥R & (R (3reraT &) Hvar 2 |
Jrerdr
TBHTIE : SR H ADHRT & W BT AT (rerar 31fdres) axar 2 |

° Zn+2NaOH — Na,ZnO,+H,
o NP e STordt Al o IR A7 79 eafyy & <11 Sfefd 2 |
i ﬁﬂ—%g;fs / H,

3redr

e NaHCO; /AIfSIH BISSINA BaHe /ST dIgdhrae
° NaCl +H,0+CO,+ NH3— NH,Cl+NaHCO;

SUIT

o I USSR g9 H

o TR & 3MAUT /3 & ®U H
o ATST 317 ARTEHS I3 H

(e : gf® fd +ff AT BT pH 7191 14 2T 1 WHAT, I IR A HB H
fore@m g1 R QR 3 Qg 9g)

(a) PET—ITE AZFATON AMeel I 997 & /31 # fafrg 781 81/ 599
AT HoT (3M) =TET B |

Yot Vs

B+¥

Vot Vs 3

B+ Y 3
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e CaCO; 95T, ca0+Co,
WeS0, — N | Fe,054+ S0,+ SO; CIERED)

2Pb(NO3)2—> 2PbO + 4N02 + 02

e 2ngel BIIR o poiq,
2AgBr M 2Ag + Br, J CAERED

e 2,0 T oy 0,

31eTaT SWRIG IMfAfhamRl & forv o=y ®Ig AHIHRT
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1. 90 i fpell <) S1raT URT A8 b IR—UR Udh UAT (A=Y BIdT &
SIT frAToT STt 8T (usRoT) & forg fahar Sirar 2 |

2. I 91l o1 feor Ri=ng va fagd Sared @ forg Y g STl & HuSROT
HT GARTT HRAT 7 |

3. g FHRTT, JMMfefe THT U qaiaNoiiy aRame
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15.

16.

17.

18.

(a)

(b)

(c)

(a)

(b)

(c)

(a)

(b)

(a)
(b)

I8 HR$ 9 R {6 aratsd &1 ufoReg iRk wxar g

(i) dTeTd &I TwaTs (312747 R 0Le)

(ii) =ITeTh T AU BT BT &=hal (3727l Rov1/A)
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2/ 9f%h 37H Had SAaS [ B & |

B fIEd &1 Gardd & — gfh ga@! UfcRIgdar S@a gl & / fd gaH
qIT SAIE I TE B € |
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Ied AU WR R (FET 81) IuAid (3ifariigd) el 8/ STerd |
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HRCA B, Al BT AT B I DT (LT ferar ATt IR AR Tt Bl
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faera Aex &) fhanfafdy o1 Rigra : el 918w grarg e 7 Red &1
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(i) STHER &I BT : AICR Bl WAfHd H gig HRAT /I DI URT HRAT |

(i) g BT BRI : HUSCA AR 8T URUL & e I B AR H
BT BRAT |

(iii) fovTarT G &1 B - U M gUIF & uwETd g R & IahiAd
B & HH BT QISR oD BRUT HUSA! FAR=IR O Al ¢ |

(i) STUSIRIY — 37U / HIGT IFHE / JAvs[Y] / f&w famras

(ii) SrvEdTRdI — UeI] / f$H /HIGT Wb BT USRI | AL Tdb
CERPARLER IR

(iii) AT — U7 &7 faHTE

IRITET : I8 U TRIAT AR & ST TR ) ffRy 3 ey 2l € | g

JOT B 3R & Held H Yaef BT £ |

AT BT B < AT & SR A YOT BT UIN0T YGTH HRAT /40T §RT S

JYTITSE UGTAT BT AT & BIER H TR | CIERED)
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2Cu,S$+30;, — 2Cu,0+ S0,
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25.

26.

27.

o AW ALY BT YeToT
e Na,SO, (STefl) +BaCl, (STefla) — BaSO, (81¥) + 2NaCl (STeil)
o fafavemy= arfafear

DIE2
08 T-—-=------------------ j
071 :
06 i
05 i
T 04 ¢ :
. 03 :
I(Qﬁq?T\’ ) A |
02 B :
01 :
I
05 10 15 2 2l5 I3 lll _é)
V(@ee #H) —
gfRer= AV - AB _ _(2-1)V _ IV
1 B (04-02)A 0.2A
U6 Gi=T
gfoRIET BT IRE
IR TR 39 JhR o—
i, f3reell @I o<l ¥ g2 (Fdrer)
ii. AT grr afoid &xeT |

ii.  afofa f3recl & Tawo Wilgs IR I
iv. FRRIA gIRT f3reel &l SIRITT HRAT 3R Hax ReTq ST

Iz
1
iz 2
1
1 2
iz
iz
Iz
Iz 2
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